248 | Division Patterns with Zeroes Name:
]
Complete the pattern:
8+8=
80-:-8=
800+ 8=
8000 +-8=
B
Complete the pattern:
8 + =1
80 = =10
800 - =100
8000 —+ = 1000
]
Complete the pattern:
8+8=
80:-8=
800 +8 =
8000 +8 =
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248 | Division Patterns with Zeroes Name:
M
Complete the pattern:
8+8=
80-:-8=
800+ 8=
8000 +-8=
[+
Complete the pattern:
7+—7=
70+7=
700+ 7=
7000 +7=
[+]
Complete the pattern:
5+5=
50+-5=
500 5=
5000 +5=
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1#7]

Complete the pattern:

8+8=
80-:-8=
800+ 8=
8000 +-8=
[+
Complete the pattern:
3+-3=
30-3=
300 +-3=
30003 =
(]
Complete the pattern:
+3=1
+3=10
+3=100
+3=1000
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248 | Division Patterns with Zeroes Name:

#10

Complete the pattern:

+~3=1

+~3=10
+3=100
+ 3 =1000

#11

Complete the pattern:

9:9=
90+ 9=
900 = 9=
9000 + 9 =

#12

Complete the pattern:

[+ =1
70 + =10
700 - =100
7000 - = 1000
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248 | Division Patterns with Zeroes Answer Key

Question Answer
#1 1,10, 100, 1000
#2 8,8,8,8
#3 1,10, 100, 1000
#4 1,10, 100, 1000
#5 1, 10, 100, 1000
#6 1,10, 100, 1000
#7 1, 10, 100, 1000
#8 1,10, 100, 1000
#9 3, 30, 300, 3000
#10 3, 30, 300, 3000
#11 1, 10, 100, 1000
#12 7,7,7,7
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